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2a. Questão (3 ptos) 

Para a treliça da figura, calcule: 

a) As reações de apoio 

b) A força normal na barra CF 

c) A força normal na barra CE 

d) A força normal na barra AE 

 

  



Resolução 
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c) 

 

 

 

 

 

 

 

 

b) 

 

 

 

 

d) 

ΣY = 0    YH + 300 = 0    YH = –300 kN 

ΣMH = 0    –XD*8 + 300*14 = 0     XD = 525 kN 

ΣX = 0    XD + XH = 0    XH = –525 kN 

ΣY = 0    –NCE*0,6 + 300 = 0    NCE = 500 kN 

ΣME = 0    NAB*6 + 300*8 = 0     NAB = –400 kN 

ΣX = 0    –NAB – NCE*0.8 – NEF = 0    NEF = 0 

Σy’ = 0    NCF = 0 

Σx’ = 0    NCB = 500 kN 

ΣX = 0      –NAD*0,707 – 400 = 0     NAD = –565,7 kN  

ΣY = 0      –NAE – NAD*0,707 = 0      NAE = 400 kN  

 

 

 

 

 


